
Addition & Subtraction 1

1. Maisie buys a toy car and a pack of stickers. She pays with a £10 note. How much change does she get?

_________________________________________________________________________________________________________

2. Finn is playing a game. He has 4,289 points.

Then he scores another 355 points.

Finn’s target is 6,000 points.

How many more points does Finn need to reach his target?

_____________________________________________________________

To practice speed, set yourself 5 minutes for these questions. 

4. Look at these building heights:

What is the difference in height 

between the Burj Khalifa and the 

combined heights of the other 

two buildings?

_______________________________________________ 

3. Tom buys 3 large boxes and 2 small boxes. How many 

chocolates does he have?

_______________________________________________________

5. 3486 + 34860 + 348600 = 
________________________________________________________________________

£1.49 £1.64

Large box 

64 

chocolates

Small box 

32 

chocolates

Burj Khalifa 828m

The Shard 320m

Empire State Building 381m



Answers

1. £6.87. Add the toy car and the stickers together and then subtract from £10. 

2. 1356 points. Add the points together and then subtract from 6000.

3. 256 chocolates.

4. 127m. Add the other two building heights together and then subtract from the Burj Khalifa. 

5. 426,906. Make sure to line up your columns so that you do not make an error. 


